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1 Bose-Einstein statistics
Consider a particle which can be in one of three states, with energies €1, €2 and €3, and suppose

that this is a Boson.
a) Given a system of two such particles, usc an occupancy diagram to list all microstatcs.
b) Assuming that p < ¢ for each k, determine the single state partition function, Zgy.

¢) Deteruine the mean occupation number for any state.
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2 Fermi-Dirac statistics
Consider a particle which can be in one of three states, with energies €1, € and €3, and suppose
that this is a Fermion.

a) Given a system of two such particles, usc an occupancy diagram to list all microstates.
b) Detertiine the single state partition function, Zgy.

¢) Determine the mean occupation number for any state.
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